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1D pull distribution

pm16X (ppb)

corr_Adet b

S g © © N 8 8 8
: 7 8
g 3 5 0% 8 8
s S o 2 3 +
+ + = o g -
B 5 = + 8 u
~ ) -
5 9 T -
o .-N -
= -
?
s a
> k) H - = ]
< g8 5 £ B g c H .
g = 2 2 by 5 8 S
3 @ = ] < o 3 7] -1
1} -
b by b b by by by by b b by by
N [<) © © < [N o © © < N o
N « — — - — —
I —_—
i A
9 .
(®)]
- m o
- ®
9.+_ .
o O
— © 1
——
© o
™ °
L
®
@
®
L
— ®
o ®
c
~
N O L
< Q| —_——
®
&
®
L g
»
—
Py
&
Py
@
—
-
L g
®
L g
—_—.————
Py
L
Py
L4
Py
L g
—_——
—i
L L
°
L
—_—
°
@
—
Py
L
®
L g
—D
L
| ___ll‘l‘l‘iil—ﬁl‘l_l__ I |

1000 [—
500



RMS (ppm)

45

40

35

30

25

20

15

10

corr_Adet_bpm16X RMS (ppm)

A+|||||| IIII|IIII|IIII|IIII|IIII|IIII|IIII|

%_

ﬁéﬁlﬂlﬁeﬁfﬂﬁﬁﬁﬁ5’6‘%5%@‘5ﬂﬂﬁﬂﬂﬂlﬂ%ﬂ%ﬁﬁ%ﬁﬁﬁﬂﬁﬁ%ﬁﬁﬁﬁﬁﬁ%ﬁﬁﬁﬁlﬂ%ﬁ 4



0III|III|

® ® o o ~ @ ® o
g 3 T8 g 8
3 g e 4§ 4
o o (3] > O
H H S.MN.I
o o 2 M
s 9 S ~ =
® O o o
8 2
8 3
S o
ﬂ T
vmwfm
» T 2 BT 8 ©
clsg £ 8 8 F 8 5 ¢
|l 8 5 & =« 8§ = &
=
=}
o)
=
f=1
Rl [
©
=
o
o
i
PRI T [ TR TR N N T TR S
< ~ o @
— — -
I
o O
< ™M
~0o
o ™M
m+_ ————
n
N
o
—
G—
©
c
=)
N
|
a|l>x<<o
(@}
o
N
———
VI
(o]
—
o
o)
_l
[}
2
a
= —_—
o ———
(&
____________
o o o o
S S S S
S ® © <




RMS (ppm)

30

25

20

15

10

corr_Adet_bpm16Y RMS (ppm)

L || L LI N B I I A I
eﬁlﬁﬁﬁlﬁ%@@ﬂs‘é‘%ﬁﬁé'%lf‘éfs‘é@‘blﬂﬂﬂﬁﬂﬂlﬁ%ﬂﬁﬂﬁ%ﬁﬁﬁﬂﬁﬁﬂﬁﬁﬁﬁﬁﬁ%ﬁﬁﬁﬁlﬂ%&4

AT
%_



corr_Adet_bpm12X (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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